ENGLISH IV FINAL EXAM – Makeup Exam, Version A.3
Modified for Use by ELL (ESOL) and IEP Students

Mr. Saenz, Spring/Summer 2013

This Final Exam has been crafted especially for use by ELL (ESOL) and IEP Students whose plans require modifications or accommodations but is suitable for use by all General Track students who may have missed their English IV Final Exam. To help student preparation, this exam – as well as other resources – is posted on the website below, which is viewable on computers and smartphones:
universeofenglish.weebly.com

Students may use any notes or handouts they have from class, the class text, any dictionaries (regular and Spanish-English, English-Spanish), and they may collaborate. This exam is designed with built-in helps.
The exam’s design considers that students may be taking it without benefit of any reviews and with a long time since they were last in class. Thus, SCORING is as follows: All students begin with a base of 10 points. Each correct answer earns 2 points; conversely, each incorrect answer costs 2 points. Please write your name, period, subject, my name, and today’s date in the upper right hand corner of this exam. Each one of those identifiers earns the test-taker 2 points. The base, 40 exam problems, and five identifiers in the upper right hand corner = 100 points. Carefully read the problems and provide the correct answers. It’s been my pleasure to teach you!

I. LITERATURE AND LITERARY TECHNIQUES

1) The oral tradition is the human experience of passing down stories from generation to generation by:

A   texting.

B   ancient scrolls.

C   stage plays.

D   word of mouth.

2) We call the pattern of rhyme (la pauta de la rima) in a poem – the same sound in the end-words that finish different lines of verse – the:

A   rhyme scheme.
B   onomatopoeia.

C   internal rhyme.
D   plot.

Read the following mini poem:

L1
You might be sunny

L2
You might be shady

L3
Just give me honey

L4
Vinegar lady!

3) Do the end-words of the first and last lines rhyme?
A   Yes, they do.




B   No, they don’t.

4) Do the end-words of the second and fourth lines rhyme?

A   Yes, they do.




B   No, they don’t.

5) Do the end-words of the first and third lines rhyme?

A   Yes, they do.




B   No, they don’t.

6) Therefore, we can say with certainty that the rhyme scheme the mini poem shows is:

A   a-b-c-b.

B   a-b-c-d.


C   a-b-a-b.

D   a-c-a-d.

7) Observe that some Spanish and English words look similar and mean the same thing; so the Spanish word batalla is a fight with weapons between two men or two armies, and means the same thing as the English word:

A   bus.


B   battle.


C   Band-aid.

D   burger.

8) When we have a hero vs. a bad guy in a battle, they are going to:

A   fight.

B   smoke.


C   drink.

D   sing.

9) A very long poem [una poema muy larga] about a great hero and the battles he fights is called a(n):
A   plot.


B   epic.



C   ballad.

D   alliteration.

10) We call the technique of repeating the same vowel sound [repeticion del mismo sonido del vocal] in different words [for example, hope and stole, or time and kind] that don’t rhyme in a sentence or in a line of poetry:

A   assonance.

B   bassonance.


C   consonance.

D   trance.

11) On the other hand, the repetition of the initial (first, primero) consonant sound in different words in the same sentence or line of poetry – for example, the “p” sound in the words “A pretty poem makes me smile” – is a technique we call:
A   paradox.

B   lesser/greater.

C   synesthesia.

D   alliteration.

12) We categorize stories about gods and goddesses and their work of creating and shaping the world and mankind primarily as:

A   novels.

B   myths.


C     ballads.

D   legends.
13) Although myths and legends bear a similarity, myths usually contain the strong presence of one or more gods or goddesses influencing the affairs of men; a legend will usually exclude the gods and focus on a:
A   hero.

B   nation.


C   people.

D   ideal.

14) The triangle drawing that shows the stages of a story’s or movie’s development is called:
A  The $100,000 Pyramid.

B   The Story Pyramid.

C   Freytag’s Pyramid.

15) At the top of our pyramid, as we studied it, stood the moment of decision, which we call:

A.   the chronology.
B   the crisis.

C   the crux.

D   the crossing point.

16) The highest emotional interest (your heart might beat faster, your stomach twist, your nerves tingle) in a story or movie occurs at the point we call:

A   the climax.

B   the catastrophe.
C   the cataclysm.
D   the capital.

17) Select the letter of the answer that offers the correct choices for this question: Which letter contains the four basic, classical conflicts we studied?

A   man vs. man,   man vs. emotions,   man vs. nature,   man vs. society.

B   man vs. self,   man vs. man,   man vs. gods,   man vs. monsters.

C   man vs. nature,   man vs. society,   man vs. man,   man vs. self.

D   man vs. evil,   man vs. storms,   man vs. other men,   man vs. something bad inside himself.

18) The hero or main character of a story or movie, the guy who has to fight or struggle against someone or something, is called the:

A   antagonist.

B   proton.

C   protagonist.


D   synthesist.

19) This character in a story or movie can be a villain (villano, maldito) but at least (a lo menos) is an opponent, someone who gets in the way of the main character. We call him the:

A   antithesis.

B   antagonist.

C   antithesist.


D   quorum.
20) The point on the pyramid – and the moment in a film or place in a story – where we discover the answer to, and the results of, the main conflict occurs at the:
A   reflection.

B   renunciation.
C   redemption.


D   resolution.

II. LITERARY, CINEMATIC, AND VIDEO SELECTIONS

21) Generally, rhetoric is the:

A   art of design.
B   art of painting.
C   art of persuasion.

D   art of ideas.
22) Rhetoric uses three modes to convince someone. One mode is the:
A   appeal to reason.
B   appeal to science.
C   appeal to faith.
D   appeal to a court.

23) President John F. Kennedy delivered his Inaugural Address in:

A   1960.

B   1961.

C   1962.

D   1963

24) Kennedy did not finish his first and only term in office because he was assassinated in:

A   1962.

B   1963.

C   1964.

D   1965.

25) Kennedy gave his Inaugural address in the cold of January, but to show he was young and healthy, and thus to make his message stronger, Kennedy did not wear:

A   underwear.

B   a coat.

C   glasses.

D   socks.
26) In our study of Kennedy and Dr. Martin Luther King, Jr., we encountered the term sitz im leben, which is German for:

A   “leaving after sitting.”



B   “spirit of the age.”

C   “starting point.”




D   “situation in life.”

27) Kennedy’s, and America’s, sitz im leben influenced how Kennedy wrote his address: what he said and how he said it.  Select the answer below that contains the factors that influenced Kennedy’s speech.

A   terrorism,  the wars against Iraq,  and the development of the stealth bomber.

B   the Cold War (threat of communism),  the brewing Vietnam War,  and the atomic arms race.

C   the Cuban Missile Crisis,  the War on Drugs, and illegal immigration.

D   the Iranian hostage crisis,  the great recession,  and the Star Wars defense initiative.

28) Kennedy wrote: “Let every nation know, whether it wishes us well or ill, that we shall pay any price, bear any burden, meet any hardship, support any friend, oppose any foe to assure the survival and the success of liberty.” Kennedy gave equal emphasis to all the underlined (          ) phrases. We name this rhetorical technique of listing ideas or actions of equal weight:

A   paradox.

B   parallelism.

C   pair and share.
D   panhandling.
29) Dr. Martin Luther King, Jr., wrote his famous letter from a jail in the city of:

A   Dallas.

B   Baltimore.

C   Atlanta.

D   Birmingham.

30) Dr. King wrote his letter to a group of eight white:
A   southern religious leaders.



B   northern religious leaders.

C   western religious leaders.



D   He wrote to blacks, not whites.

31) Both Kennedy and Dr. King stated forcefully where man’s rights come from, so please fill in the blank in this quote from Dr. King’s letter by selecting one of the answer choices below:  “We have waited for more than three hundred and forty years for our  _______________ - given and constitutional rights.”
A   man


B   nature

C   reason

D   God

32) Dr. King wrote: “You deplore the demonstrations that are presently taking place in Birmingham. But I am sorry that your statement did not express a similar concern for the conditions [segregation based on race] that brought the demonstrations into being.” Is Dr. King saying that if his fellow religious leaders are going to criticize demonstrations, then they should criticize racial segregation because it’s worse? If so, what have we named this kind of rhetorical technique?
A   lesser/greater


B   anaphora


C   paradox
D   segregation is not worse than demonstrations

33) The main conflict in the movie The Day After Tomorrow is:
A   man vs. self.

B   man vs. man.

C   man vs. society.
D   man vs. nature.

34) We said the director gave human intelligence and a predator-like quality to the storm, particularly when the storm appeared to be chasing Sam and his friends by the rapidly advancing, crackling formation of ice as they ran back to the library. We called this technique:

A   visual paradox.
B   visual paraphernalia.
C   visual personification.

35) Because Jim Garrison, the protagonist or hero, fights people in several government agencies, we say the main conflict in the movie JFK is man vs.:

A   self.


B   man.

C   society.

D   nature.

36) In the assassination of John F. Kennedy, the theory that one bullet hit him and Governor Connolly and left seven wounds on them is called the:

A   magic bullet theory.

B   many bullets theory.
C   triangulation theory.

37) In “The Ones Who Walk Away from Omelas”,  the citizens of Omelas place (ponen) all their sin and guilt on a small boy and lock him in a dark, underground closet so they can live thrilling, prosperous lives. That makes the boy both:
A   symbol and synesthesia.



B   scapegoat and sacrifice.

C   paradox and parallel.



D   metaphor and simile.
38) Select the answer choice that allows you to exactly and correctly complete this quote about sacrifice that we studied from the movie, Star Trek: the Wrath of Khan: “The needs of the   __________________   outweigh the needs of the few or the one.”
A   several

B   people

C   rich


D   many

39) A person who is mercurial has suddenly changing (like what’s in a thermometer):
A   ideas.

B   clothes.

C   mood swings.
D   sleep cycles.

40) If you hex someone, chances are good that you are:
A   annoying them.
B   casting a spell on them.
C   showing them six things.
